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hm‘ =yt +2x)=?

PR hm(r—\/x +2x)-—11m(x—\)x +2x) — x+Vx +2x

[106 {7:4(C))

x+x*+2x
2_ 2 . .
lim > 3x2+2x) lim——= X fim—2 -
x+vx® +2x x+vx"+2x 1+ 142
X
' Find the indicated limits if it exists lim(1 —l)( 21 Yy [106 3% T3EE ~ 45T]
: x—4 ,‘/; 2 x°—
1 1 1 -3
L 1 Jx 2.0 S5*
SER ¢ lim(————) =lim¥X = () =1 =—
i x—>4\/_ APOT L AT 128
H_Z_JL/L ﬁ ﬁf_ﬂiﬂ:
im L ( 1 ):HmZ-—\/;.2+\/;_ 1
o J_ 2 =>4 2y 2+4+fx x*-16
i 1 Aox 1 1
T 42 x(2+4x) ¥ 16 =4 2Jx2+x) x+4 128

;Compute 11m(\/x+ x+4x —/x)

=574 hm(\}x+ x+Vx \/—) \/-_MﬁijLi
X+yx+x +

Jx
. \lx+\]x . 1+ X 1
=lim =lim A
xS T . x+x o 2
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la>b>0 >3k lim(a"+b")"
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1
a"<ad"+b"<2a" = (a")" <(a"+b")
1 1
=a<(a"+b")" <2"q

X lim2 a=a > BEREEEHE
f#2
1

lim(a” +b")"

{a" [1 +&y }}_ = lim a|:1+ &y
a n—sw a

=lim

nh—»o0

Hia>b>0 > lim(é)"zo ,

n—oco a
|

0 1im[1+(£)"}; =1
a

n—w

T 1
| Evaluate the limit lim(101" +2012")".
i n—yo0

1
b
a

[l+(—)"} K 1° Al

L1010 AR ~ il

"< (2a")"

1

lim(a" +b")" = a

a
1
n

(101 f1J]

SRR R 1. FREEEH

2012" <101 +2012" <2012" +2012"

B % HHF

L 1
2012 < (101" +20127)" < (2-2012")"

L
N 1im2012-2" =2012 -

n—»co

1

=2012-2n

1
e F S lim(101" +2012")" = 2012

101

1
f# 2. lim(101" +2012")" = lim2012|:
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(2012)
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i 2x
jLet f(x)_x-i—l.
Define: f*(x) = f(f(x))
L =)
ST =)
Determine !gl; f"(x) for x>0.
@0 ®1 ©2 @x © - [98 AT
= . (b)
fy ==X
x+1
2
fz(x)zf(f(x))zf( 2x )= x+1 _ 4x
x+17 2% 1 3x+1
x+1
5 4x
£ = ) = ey = 3ael B
3x+1 4x | Tx+l
3x+1
b b4 E n _ 2"x
BIRdiRErS f (x)————(zn_l)x+1

2"x
im 1" =lim——=1
}:400 f (x) n—o (2" — ])x +1

i Is there a number a such that the following limit exists? If so, find the value of «
|

. . 3x
 and the value of the limit.  lim ad :jx = az+ 2 [106 BrAME ]
; X—>— X X—

|

HE D im(P +x-2)=0 0 BRIREE —ER | 1

= AF mGx +ax+a+3)=12-2a+a+3=0 = a=15
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At 1Sy 418 0 l 6x-1-15

a=15 Q] DAY lnnil—fsz—(()) = =-1
A 41518 (v 2) (w1 3)
_— |l|l| ==

L 2 (v 42)(x—1)

s ||

- R \‘ ‘i'!

Suppose that a,b and c are constants and lim (Vax® +bx+c +3x), then
(a,b) = [106 &A(B)]
SHE G 9 f=-x

Nat* —bt+c +3t
lim (Jax® +bx +¢ +3x) = lim(Jar® —bt +c ~30)-~= <
F>-s0 Vat> —bt+c +3t
. (@a=9N" —bt+c
=lim =2
> \Jat* —bt+c +3t

STFH ¢ FREHHE = a=9
DERFERIR{E }‘6=2 = b=-12 > # (a,b)=(9,-12)

f(x) =2, lmf(x) 1, im I o2

3 2
| 4% f(x)=ax +bx +cx+d, a#0, 1n_11x+ S L

w%ﬁl% (a,d) [ — [105 BoRAEX]

lim f(x) 2. llmf()—1:>f(x) B (1), (x—T) BYEZ -

g—fléﬁz; : x—-1 x+ x—l x—
HE f(x) WEEGRERE o HEHEE 4
MBS f(0)=G+)E-Da-d) > A
lim i(i) (x+l)(x )(ax—d) 2(atd)=2
el x+1
lm—[gl (x+1)(x D(ax—d) _2a—d)=1
-1 x—1 x—+1 x-1

5 4] g

:>a:;1-, d=z ’ﬁ')‘z (a,d)—(4,4)
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Please find the horizontal and vertical asymptotes of the graph of the following function

V2x° +1 T——
=Y [105 i AFiFH]
3x-35
\/———' ‘/2+ l
2 l . _2
S¥EfFE ¢ lim f(x) = lim ax = lim X =i-2—-
X0 x=o 3y —5 X0 3_§ 3
x
S t=—x"
2 2 2+—
lim £(x)= I 2x" +1 _ 2t +1_I £ _ V2
x> x>0 Jy— o _3f_§ 1> _3_§ 3
t
V2 2 \
4 Y= YET E7K ST 4R
2
2 lim fx)= lim Y22
x—»(%)‘ x—)(%)_ 3x—5
2
lim /()= tim Xt oo g 22D REEW
I—>(§)+ ;\-—)(5)+ 3x-5 3
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